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Private SubCommandButton1_Click))

Static aa As Integer, bb As Integer, cc As Integer, al
As Integer, bl As Integer, c1 As Integer, & As Integer
Dim ab As Integer, ac As Integer, ba As Integer, bc As
Integer, ca As Integer,cbAslnteger

g=st+1
Vaue=st
IfTextBox20.Value = 1 Then
a=A Vaue
bb=B Value
cc=C Value
al = aa
bl = bb
cl=cc
End If
Rem
ab=a*B Vadue * Vaue
Rem
a=aa*C Vaue * Vaue
ba=bb* A Vaue * Vaue
bc=bb* C Vaue * Vaue
ca=cc*A Vaue * Vaue
cb=cc* B Vaue * Vaue
Rem
aa= (aa+ ba+ca-ab-ac)
bb=(bb+ab+cb-ba-bc)
cc=(al+bl+cl-aa-bb)
Rem
A Vaue = Round(aa)
B Vaue = Round(bb)
C Vaue = Round(cc)
Rem
A 1 Vadue = Round(A
Vaue - A Vaue - A Vaue * A
Vaue)
B 1 Vaue = Round(B
Vadue - B Vdue - B Vaue * B
Vaue)
C 1 Vaue = Round(C
Vaue - C Vaue - C Vdue * C
Vaue)
Rem
A Vaue = Round(A 1
Vaue * aa)
B Vaue = Round(B 1
Vaue * bb)
C Vaue = Round(C 1

Vaue * cc)

A Vaue = Round(A

Vaue) + Round(A 1 Vaue * aa)
B Vaue = Round(B
.Vaue) + Round(B 1 Vaue * bb)
C Vaue = Round(C
.Vaue) + Round(C 1 Vaue * cc)
Rem
Cdls(t+2,1) =A Vaue
Cdls(¢+2,2) =B Vaue
Cdls(¢+2,3) =C Vaue
Cdls(¢+2,5) =A Value
Cdls(s +2,6) =B Vaue
Cdls(¢+2,7) =C Vaue
End Sub
Rem
Private Sub CommandButton2_Click ()
End
End Sub
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